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NUMBER OF TURNS RIGHT

21-METER ZEROING TARGET

AK RIFLE WITH L6-INCH BARREL.,

5.45 AND 5.56mm 300m ZEROQ; 7.62mm 200m ZERO
NUMBER OF TURNS LEFT
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Procedure:
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|. Set rear sight to 300 meters (5.45 and 5.56mm) or 200 meters (7.62mm).
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2. Aim center mass from stable shooting position and fire a three-shot group.
3. Clear weapon; determine center of shot group and ad just front sight accordingly.

4. Confirm ad pstment with another three-shot group. Repeat step 3 if necessary.

Solid-line gnd measures | ecm high by lem wide. For 8.5"'x11"" paper.



